EXTRA PROBLEMS ON QUANTUM NUMBERS
Ch 120
1.  Which set of four quantum numbers not possible?


a.  n = 4  l = 2  m = -1  s = +1/2


b.  n = 3  l = 0  m = 0  s = -1/2


c.  n = 2  l = 2  m = 1  s = ½


d.  n = 5  l = 3  m = -2  s = -1/2

2.  Which type of orbital is not possible?


a. 3f

b. 6s

c. 2p

d. 4p

3.  What type of orbital has l = 2?

4.  How many electrons have l = 1 on an atom of titanium (Ti)

5.  Explain why there are up to ten electrons on a set of d-orbitals.

6.  How many of the electrons on an atom of argon have m = +1?

7.  Draw an orbital diagram for an atom of chromium.  What is the total value for spin (s) 

     for this atom?

Answers:

1.  c

2.  a      (if  n = 3, l cannot = 3)

3.  d-orbital

4.  12   (there are twelve p electrons on a titanium atom)

5.  for d, l = 2, m can = 2,1,0,-1,-2    for each of these m values, s = + or - ½  5x2=10

6.  4

7.   total s = 4 x ½ = 2
